Maths yr 6
Go to the following web page:
https://whiterosemaths.com/homelearning/year-6/
Watch the video on Ratio – Lesson 1
Try the questions below. If you need more help, go to the following webpage: https://www.bbc.co.uk/bitesize/articles/z6tcf82

Attempt as many of these questions as you can.
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Find the answers below
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2) Explain if you agree, partially agree or disagree with each of the children’s statements about the shapes below. If
you disagree, explain why.
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There are 6 squares for every 1 triangle.

For every 6 circles, there are 9 squares and 4 triangles.

For every 24 shapes, there would be 4 triangles, 5 circles and 9 squares.
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1) Complete the statements to describe the relationship between the quantities of each shape in this col-
Lection of shapes:
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2) The quantities of each fruit bought by a family every week is shown below.
1f the family continue to buy the same amount of fruit each week how many of each fruit will they have bought
by the time they have bought 56 apples?

triangles, squaresand
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3) Create your own ‘or every.” questions comparing the relationship between the numbers of ruit.
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For every 1 cicle, there are 3 trangles.

For every 2 cicles, there are é triangles.

For every 3 circles, there would be 9 triangles.
For every 12 triangles,there would be 4 circles,

For every 3 pentagons, there are 2 triangles and S circles.
For every 10 circles, T would have 6 pentagons.

For every 6 triangles, 1 would have 9 pentagons.

For every 40 shapes, Twould have 3 triangles, 12 pentagons and 20 circles.

For every 1 banana, there are 3 apples.
For every 3 bananas, there are 9 apples.

For every 21 apples, T would have 7 bananas

For every 40 pieces of fuit I would have 1 bananas and 30 apples.

This could ot be true. There are 4 bogs fo every 1 gir therefore there must be more boys in Mrs Hall's class.
than girs. They cannot be egualin namber.

This could b true. 1 gir for every 4 boys; 2 girs for every 8 bogs; 3 girls for every 12 boys; 4 girs every 16
boys; S girs for every 20 bogs.

This could mot be tru. The raio ofgirls to boys is 1 gilto every 4 boys. Therefor, 1 gilfo every 4 bogs; 2.
girs for every 8 bogs; 3 girs for every 12 bogs; 4 girls forevery 16 bogs.

There could be more than 13 boys but f there were 13 boys exactly, the rati of 4 boys for every one girl
would ot be correct.

Disagree. There are 3 squares for every 1 triangle or & sguares for every 2 tiangles.
partially agree. There would be § squares but there would actualy be 3 trangls, not 4.
Partially agree. There would be 4 triangles and 8 circles, but there would be 12 squares, not 9.
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1) @) For every 1 pentagon, there are 3 triangles, 2 squares and 4 circles. @
b) For every 5 pentagons, there e S triangles 0 squares and 20 crcls. ©
) For every 70 shapes, there are 7 pentagons, 21 tiangles, 14 squares and 28 circles.

1t ould take 7 weeks to bay 56 apples thereore they would have bouht:

Lemons: 21

Bananas: 70

oranges: 23

Totah 6 + 21+ 70+ 28 = PS.
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cmlm the sentences to describe the relationship between the quantities of each shape.
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) For every 1 circle, there are. triangles.
b) For every 2 circles, there are. triangles.
) For every 3 circles, there would be. triangles.

d) For every 12 triangles, there would be circles.
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a) For every 3 pentagons, there are trianglesand. dircles.
b) For every 10 circle, Twould have pentagons.
<) For every b triangles, Twould have pentagons.
) For every 40 shapes, Twould have triangles, pentagons and
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circles.
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For every 1 banana, there are
For every 3 bananas, there are
For every 21 apples, 1would have

For every 40 piecesoffuit, [ would have

apples.
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1) In Mrs Hull's year 6 class, there are & boys for every 1 girl.
Based on the ratio above, which statements could be true about Mrs Hull's class?
Explain your answers fully,

@) There are 15 boys and 15 girls in Mrs Hull's class.

b) There are 5 girls and 20 boys in Mrs Hulls class.

©) There are 13 boys in Mrs Hull's class.





